	РАЗМЕРНЫЙ РЯД ДЖИНСОВ Д/МАЛЬЧИКОВ

	Артикул
	Рост
	Артикул
	Рост
	Артикул
	Рост

	ЛБ 313=18
	116
	ЛБ 316=4
	104
	ЛБ 324=21тс
	110

	ЛБ 313=19
	122
	ЛБ 316=5
	110
	ЛБ 324=22тс
	116

	ЛБ 313=20
	128
	ЛБ 317=1
	86
	ЛБ 324=23тс
	122

	ЛБ 313=21
	134
	ЛБ 317=2
	92
	ЛБ 324=24тс
	128

	ЛБ 313=22
	140
	ЛБ 317=3
	98
	ЛБ 324=19с
	98

	ЛБ 313=23
	146
	ЛБ 317=4
	104
	ЛБ 324=20с
	104

	ЛБ 312=18
	116
	ЛБ 317=5
	110
	ЛБ 324=21с
	110

	ЛБ 312=19
	122
	ЛБ 318=16с
	86
	ЛБ 324=22с
	116

	ЛБ 312=20
	128
	ЛБ 318=17с
	92
	ЛБ 324=23с
	122

	ЛБ 312=21
	134
	ЛБ 318=18с
	98
	ЛБ 324=24с
	128

	ЛБ 312=22
	140
	ЛБ 318=19с
	104
	ЛБ 325=19
	98

	ЛБ 312=23
	146
	ЛБ 318=20с
	110
	ЛБ 325=20
	104

	ЛБ 311=18
	116
	ЛБ 318=16ч
	86
	ЛБ 325=21
	110

	ЛБ 311=19
	122
	ЛБ 318=17ч
	92
	ЛБ 325=22
	116

	ЛБ 311=20
	128
	ЛБ 318=18ч
	98
	ЛБ 325=23
	122

	ЛБ 311=21
	134
	ЛБ 318=19ч
	104
	ЛБ 325=24
	128

	ЛБ 311=22
	140
	ЛБ 318=20ч
	110
	ЛБ 326=21с
	110

	ЛБ 311=23
	146
	ЛБ 319=16с
	86
	ЛБ 326=22с
	116

	ЛБ 309=18
	116
	ЛБ 319=17с
	92
	ЛБ 326=23с
	122

	ЛБ 309=19
	122
	ЛБ 319=18с
	98
	ЛБ 326=24с
	128

	ЛБ 309=20
	128
	ЛБ 319=19с
	104
	ЛБ 326=25с
	134

	ЛБ 309=21
	134
	ЛБ 319=20с
	110
	ЛБ 326=26с
	140

	ЛБ 309=22
	140
	ЛБ 319=16ч
	86
	ЛБ 326=21ч
	110

	ЛБ 309=23
	146
	ЛБ 319=17ч
	92
	ЛБ 326=22ч
	116

	ЛБ 308=18
	116
	ЛБ 319=18ч
	98
	ЛБ 326=23ч
	122

	ЛБ 308=19
	122
	ЛБ 319=19ч
	104
	ЛБ 326=24ч
	128

	ЛБ 308=20
	128
	ЛБ 319=20ч
	110
	ЛБ 326=25ч
	134

	ЛБ 308=21
	134
	ЛБ 320=1с
	86
	ЛБ 326=26ч
	140

	ЛБ 308=22
	140
	ЛБ 320=2с
	92
	ЛБ 326=21с
	110

	ЛБ 308=23
	146
	ЛБ 320=3с
	98
	ЛБ 326=22с
	116

	ЛБ 307=18
	116
	ЛБ 320=4с
	104
	ЛБ 326=23с
	122

	ЛБ 307=19
	122
	ЛБ 320=5с
	110
	ЛБ 326=24с
	128

	ЛБ 307=20
	128
	ЛБ 320=6ч
	86
	ЛБ 326=25с
	134

	ЛБ 307=21
	134
	ЛБ 320=7ч
	92
	ЛБ 326=26с
	140

	ЛБ 307=22
	140
	ЛБ 320=8ч
	98
	ЛБ 327=19тс
	104

	ЛБ 307=23
	146
	ЛБ 320=9ч
	104
	ЛБ 327=20тс
	110

	ЛБ 316=1
	86
	ЛБ 320=10ч
	110
	ЛБ 327=21тс
	116

	ЛБ 316=2
	92
	ЛБ 324=19тс
	98
	ЛБ 327=22тс
	122

	ЛБ 316=3
	98
	ЛБ 324=20тс
	104
	ЛБ 327=23тс
	128



	ЛБ 327=24тс
	134
	ЛБ 338=19
	104
	ЛБ 425-1
	98

	ЛБ 327=19с
	104
	ЛБ 338=20
	110
	ЛБ 425-2
	104

	ЛБ 327=20с
	110
	ЛБ 338=21
	116
	ЛБ 425-3
	110

	ЛБ 327=21с
	116
	ЛБ 338=22
	122
	ЛБ 425-4
	116

	ЛБ 327=22с
	122
	ЛБ 338=23
	128
	ЛБ 425-5
	122

	ЛБ 327=23с
	128
	ЛБ 338=24
	134
	ЛБ 425-6
	128

	ЛБ 327=24с
	134
	ЛБ 424-1
	98
	ЛБ 426-1
	98

	ЛБ 328=21
	110
	ЛБ 424-2
	104
	ЛБ 426-2
	104

	ЛБ 328=22
	116
	ЛБ 424-3
	110
	ЛБ 426-3
	110

	ЛБ 328=23
	122
	ЛБ 424-4
	116
	ЛБ 426-4
	116

	ЛБ 328=24
	128
	ЛБ 424-5
	122
	ЛБ 426-5
	122

	ЛБ 328=25
	134
	ЛБ 424-6
	128
	
	

	ЛБ 328=26
	140
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


